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k _ pk k _ pk k _ pk
P =P +T +T,-2 PY=P +2-T,-T, \ P =P +T +T,-2

Py =P +T,+T, - 2 P30 P 0
qok=0 To=1(\ 1£T +T £2)
o b=2
P +T, +T, >a
P >a-2
i- 2>P - T, - T,
i- 2+T, +T, > P/

i- 2+T,+T,>P, >a-2 Pgk
i-2+T +T,>a- 2 i-2+T,+T,>0
\ T, +T, >a- i T, +T,>2-

1ET, +T, £2
2>a- i 0>-i

a-i-2<0

o b>2
a- b+2E P +T +T,
P‘3a-b 1
: k
i-2>P -T, - T,
i+T,+T,- 2> P/ 2

i+T,+T - 2>P % a-b
Pgk 1ET,+T, £2
i>P3a-b
a-b-i<0

o O<b<2

12



a- D+4<P+T +T,
Py <a- 2b+2 1
. k
i-2>P-T -T,
i+T, +T,- 2> P 2

i+T,+T,- 2>P >a- 2b+2

Pgk 1ET, +T, £2
i>Pf>a- 2b+2
\ a- b-i+2<0

Pl =P +T,+T,-2 prUFDE 2 T T\ ploT 47 - 24 PX =

qgk=1,qok=0 To=1(\ 1£T, +T, 6 £2)

P +T,+T, >a
i+T0+Tg>a

2j+i+23 P -T, - T,
2j+i+23 - 2+i
\ j>-2

i- 2EP - T,- T,
i £

1ET, +T, £2
a-i-2>0
o b>2

a- b+2EP +T +T,

a-b-i+2£T, +T, 1

13



. k
i- 2£PF-T,- T,

i £i
2j+i+23 P -T, - T,
2j+i+23 - 2+i
\ j>-2
1ET, +T, £2
a-b-i£0
o 0O<h<2
a- o+4<P+T +T,
a- - i +4<+T +T, 1
i- 2EP - T,- T,
i £i
2j+i+23 P -T, - T,
2j+i+23 - 2+i
\ j>-2
1ET,+T, £2
a- 2b-i+2<0

PY=P +T,+T,-2 PY=P-T,-T, \ P =P =0
o b=2
P +T,+T,>a
T, +T, >a
2j+i+2<PS-T,-T,
2j+1+2<-T - T,

o b>2

14



o 0<b2
k k k _ k k _ k
Pg =P +T0+Tg P —Pg +2- TO-Tg \ Pg =P =¥

o b=0
F%" +T,+T, <a

¥ +T,+T, <a

o b>2

P +T,+T, £a-b+2
o 0O<b<2

P+T,+T,<a

_( +D(P; +2-T, - T))+i
j+2

Py =R +T, +T,  p \ P =T 4T, +2j+i+2

Pr=2j+i+2

qok=0,qok=1 Tg=0(\ O£T, +T, £1)
o b=2
P +T, +T,<a
2] +i+2+T +T <a
a-i-2j-2>T +T,

. k
i- 2EP - T,- T,
2j30
2j+i+23 P -T, - T,
2j+i3 2j+i
0LT,+T, £1
a-i-2j-2>0

15



o b>2
P +T,+T, <a-b+2
a-b-i-2j>T +T,
i- 2EP - T,- T,
2j30
2j+i+23 P -T, - T,
2]+i3 2)+i

a-b-i-25>0

o O<b<2

P+T,+T,<a
a-i-2j-2>T +T,

: k

i1-2ER -T,- T,
2j%0

- . k

2)+i+23 P/ -T - T,

2]+i3 2)+i

a-i-2j-2>0

0ET,+T, £1

P=P+T,+T, P =P'-T,-T, \ P/ =P +T, +T,

0 g 0 g

P >0 P
Tg=0(\ O£T, +T, £1)
o b=2
P +T,+T, <a
2j+i+2<Pf-T, - T,
2j+i+2<P¥ 2

16

ggk=0,qok=1



2j+i+2<Pi<a-T,-T,
Pok 2j+i+2<a-T -T,

0ET,+T, £1
a-i-2j-2>0

o b>2
P +T,+T, <a-b+2
. . Kk
2)+1+2<P/ -T - T,
2j+i+2<P* 2

2j+i+2<Pf<a-b+2-T - T,

O£T, +T, £1
a-b-2j-i>0
o 0<h<2

PY+T,+T, <a
2j+i+2<Pf-T - T,

2j+i+2<P‘<a-T,-T,

2j+i+2<P¥ 2
2j+i+2>0
2j+i+2<a-T,-T, OLT,+T, £1
a-i-2j-2>0

«_(b-D(P+T, +T,)- a
9 b- 2
P‘=a-20+4-T,-T,

k _ k
Pr=Pf+2-T,- T,

P‘>0 P

g o]

17

\ P =a- 2b+2

ggk=1,qok=0



To=1(\ 1£T,+T,£2)
o 0O<b<2
P +T,+T 3 a
a- 2£ P}
a- D+43 P+T +T,
a-2b+43 a- b+4
i-2>P-T,-T,
PY<i-2+T,+T,

a- 2EP <i- 2+T +T,
1ET,+T, £2

a-i-2<0

Bk = (b-D(P+T, +T,)- a
’ b- 2

k _ k k _ k _
PC=P-T,-T, \ P=a \ P‘=a-T,-T,

o 0<h<2
qok=1 Tg=0(\ O£T, +T, £1)
PA+T,+T,3 a
asa
P +T,+T, £a- 2b+4
2b- 4£0
PC-T,-T,3i+2j+2a
a-i-2j-23 T +T
OELT, +T, £1
a-i-2j-230

k _ pk
PA=Pf+2-T,- T,

18



o b=2
qs =0 T =1
I:z’k-'--l-o-'--l_gza' Pok:ng+2'To'Tg
Pf=a-1-T,
k — pk
P =P +1- T,

\ P =a-2
ng 0 E,k 0

0£ng

as 2

i-2>P-T,-T,

i>a-1-T,

\a-i-1<Tg £1

a<i+2
2fa<i+2

pk :(j+l)(P§;( +2- To' Tg)+i
o b=2
k
Pg 0 F%k 0
P“+T +T =a Pk=(J'+1)(P;+2-T0-Tg)+i
9 A 2
a-TO-Tg:(jH)(ngJ’.Z' T, -Ty) +i
j+2
sza(j+2).-i'T0'Tg_2
] J+1
i k o K
- 28R - T,- Ty 2] 41423 By - T, - Ty

i- 24T, +T, P £2]+i+2+T, +T,

19



a(j+2)-i-T,- T,

i-2+T,+T, £ _
J+1

\ T,+T, £a-i
a(j+2)-i-T,-T o
. S -2£2)+i+2+T +T,
j+1
\ T, +T, % asi- 2)+)
a-i- 2(] +:D £To +Tg fa-i

0ET,+T, £2 T,
Ofa-i£2]+4

k _ pk

PE=Pf-T,-T,
o b=2

R=R-T,
k —
\ Pg =a
k
Pg 0
OEPOk
a3 T,

2j+i+2<Pf-T - T,
2jtit+t2<a- T,
\ 0£T,<a-2j-i-2

O<a-2j-i-2

20

To



t
P +(T,-1)* P +(T, - t)°

PP79.

Tg,To

21



subgame

Tg

subgame

perfect

ng +(Tg - X)2 = F)ok +(To - X)Z
(ng - F)ok +T92 - Toz)
2T, - T,)

\ X =

subgame perfect

=q, ( 2-1
Pgk: Pok=

To=

qgk:

g, =1- X
(BRI -T)
2T, -T,)

qok:

O£ XE1

(ng - Pok +ng - Tok)
2T, - T,)

o
(0} £1

P¥ - (T, - TO)(Tg2 +T?- 2) £ ng £ P*- ng +T7
ng +ng -T?EPCE ng +(T, - TO)(Tg2 +T7%-2)

22

( 2-2

( 2-3

Pgk

< Pok

To=



T, <TSf ( 2-6) Tg=To

g
(0 ag< 1) (a-bqgk)
a
—>b 2-7
5 ( )
To,Tg
é k_ Pk +T2_T2)U k_pkyT2_T2
P, :a+éng- a+b(Pg P° Tg T° )OV(PQ PO Tg To)
8 2T,-T,) g 2(T, - T,)
Pk _ Pk +T2 _ T2
=a+H(o+2T, - 2T,)P% - bR +bT2 - 2T, - T2+ 2a1,) 8 Fo *Ta - To)
4 (T,-T.)
Py
— k
b=2T,- 2T, P!
k
b>2T, - 2T, P!
k
b< 2T, - 2T, P!
o b=2T - 2T,
- (Tg2 _ T02 +a- Pok)(ng _ Pok +ng _ -I-OZ)
Py = ( 2-9)
2T,-T,)
Pok _ (-I-g _ TO) (ng +T02 _ 2) £ ng £ Pok _ ng +T02 ng - Pok _ TgZ +T02
p, =0
ng = I:)ok B (Tg - To)(T92 +T02 - 2)
p, =T -T - a- P
k _ 2 2
Pr=a+T;-T, P, 0
P>a+T?- 1! P =P - (T, - T)TS+T72-2) P,
TZ-T - a- P
sz < a+T92 - To2 ng = F)ok - ng +T02 pg 0
o b>2T - 2T,

23

( 2-9



k _ pk 2 2
PF=Pr T2 4T,
p, =0
k _ pk
Pg - Po - (Tg - To)(Tg +To_ 2)
p,=-(T,+T,- 2(T,- T,)- a+b+Py

P> (T, +T,- 2)(T,- T,)+a- b PE =P - (T, - )T, +T,- 2 P,
- (T, +T,- 2)(T,- T,)- a+b- P/
k k — pk
PO - (Tg +T0 B 2)(T9 B T0)+a_ b Pg - Po - (Tg - To)(Tg +T0- 2)
Py =P -T +T? p, 0
k k _ pk 2 2
P, <(T,+T,- 2)(T,-T,)+a-b P =R -T, +T, P, 0
o b< 2T, - 2T,
k _ k 2 2
P =P -T, +T,
p, =0

P =P - (T, - T,)T;+T}- 2)

g

p,=-(T,+T,- 2)(T,- T,)- a+b- P

P, P
Tp, (2T,- 2T, +b)P +T2 +(b- T )T - (PX +a+TH)T, +T. - bT> +(a+P)T, - bP*
g g [0} g g [o] g o] o] g o] o] o] (o] o]
® 2(T, - T,)?
( 2-10
( 2-10)=0
(T, - T, +b)P- T2 +(T, - BT +(@+TA)T, - T +bT? - aT,
o 2T, - 2T, +b (21
g~ o
T2-TZ+a- P
q =
° 22T, - 2T, +b)
_ (ng' TOZ_ R)k +a)2
g P, = ( 2-12
A(2T, - 2T, +b)
T, - T, +b)P - T2+ (T, - O)TZ +(@+T2)T, - T2 +bT2- aT,
( g o (o] g [¢] g [o] g o o] o]
2T, - 2T, +b

- (R - (T, - T)(T, +T. - 2))

24



_ (T, - T)(T] - 4T, +4T,- T +a- 2b- PY)
2T - 2T, +b

(T, - T,+b)P - T2 +(T, - B)TZ +(a+T2)T, - T, +bT?- aT,

Pk — Pok _ -I-2 +-|-02 _
g ¢ 2T, - 2T, +b

— (1_9 - To)(ng - T02 +a- Pok)
- 2T, - 2T, +b

TZ- T +a<PS <TZ- 4T +4T,- T +a- 20 Py
- (T92 } T02 - R +a)2
42T, - 2T, +D)
R)k 3 ng - 4Tg +4T0 - T02 +a-2b ng = Pok - (Tg - To)(Tg2 +T02 - 2)
S (T +T,- (T, - To)-a+b- By
R)k £ ng } To2 ta ng = I:)ok ) ng +T02 0

é @ (P-P+T2-TAH@ &P - P +T2-T2)U
P, =& - i+ ] Rk °):u><§(g %, T
é 8 Z(TQ'TO) & e 2(Tg-T0) 9!

(PY- P +T2- 21, +2T, - T)
(Tg - TO)Z

=2l R R T2 T+ T2 264 D)T,) (2-13

PX Pk

p, P
o, (2T, - 2T, - ppP<-T2 +(T, - j+2T? +(ng +ng - AT +i+2))T, - Tg3+ jng - (i +ng)Tg +ng"

P! 2T, T,

( 2-14)
( 2-14)=0
_(T-T, - DPIHTS - (T, +2- T2 - (T2 - 4T, +i +2))T, + T - 2+ ))TZ - (i +2j)T,
2T,- 2T, - |

Pk

[o]

__ Ci+R
2(j- 2T, +2T,)
(T2- 2T, + 2T, - T2 - i +PS)?
A - 2T, +2T,)

( 2-15) go

o p, = ( 2-16)

25



P +T - TPER ER +(T, - T)(T, +T,)- 2
RE=R + (T =TTy +T, - 2) P, 0
Py =P +T - T} P, (Ty+T,+2)(T,-T)+a-i- |

P +T - TPER ER +(T, - T)(T, +T, - 2

k
Py +(T, - T)(T, +T, - 2)
BUSS P +T- (T, +2- T2 - (T2 - 4T, +i+2))T, + T2 - (2+))T2 - (i +2))T,

2T, - 2T, - |
_ (T, STH(TZ+2T - 2T, + T2 +i - PY)
j- 2T, + 2T

(Ty- To- DRSHTS - (T, +2- DT - (T2 - 4T, +i +2J)T + T2 - (2+ )T - (i +2))T,
2Tg -2T,-

_ (ng+-|-92_ T02)
(- TS - 2T, 42T, 477 41 +2) - BY)
j_ 2Tg+2T0

T H2T - 2T, + T+ <Py <-T72- 2T + 2T, +T. +i+2] Po

(ng - 2T, +2T, - T2-i+ ng)2
4(j - 2Tg +2T,)

Py 3 -T7- 2T, +2T, + T +i+2] P =P +T]-T;
(Ty+T,+2)(T, - T)+a-i- |
Py £-T, +2T - 2T, +T) +i P =P +(T, - T)T +T.- 2 0

26



Pgk agk mg (o )
= P“>a+T2-T? PF =R - (T T +T5-2) | 1 T?-T?-a- P*
2To-2Tg ° ¢ ° o0 °
Pf=a+T-T) (R- R+T7-T5) | O
2(T,- T,)
k 2 2 k k 2 2 0 O
P <a+T, - T, Py =P -T, +T,
b> R>(T,+T,- 9T, -T)+a-b | Pk =pl- (T - T,)(T,+T,-2) | 1 - (T, +T,- 2)(T,- T,)- a+b- P
2To-2Tg
Pok:(Tg +T0' 2)(Tg_To)+a_ b ng :P0k - (1-9 - TO)(rg +TO - 2) 1 0
k _ ok 2 2 or0
or Py =PF -T,+T;
Pok <(rg +T, - Z)Ug— T)+a-b ng — Pok _ -I-gz +-|-02 0 0
0<b< RPT -4 +4T,-Tf+a-2b | Pl =Pk (T -T)(T2+T2-2) | 1 - (T, +T,- 2(T,- T,)- a+b- P
2To-2Tg

-T2 +2T,- 2T, + T2 +i <Py
2 2, - .
<-TP- 2T 42T +T2+i+2]

T T R T3 (T T2 (qu T2 T3aT2 o
T T T T

AT AT ik

2-11

TZ-TZ+a- PX

2(2T, - 2T, +b)

2 2 ky2
(Ty - 2Ty + 2T, - Ty - i+ Py)
4(j - 2T, +2T))

PET-TZ+a | PA=P -T2+T] 0 0
Pok gok g
Pl 3 -T7- 2T +2T +T7+i+2] = :pgk +T92-T02 1 T, +T,+2(T, - T,)+a-i- j
- TE+2T - 2T +TZ +i <P . - i +Pf (T¢- 2Ty + 2T, - T2 - i + P
2-15 2() - 2Ty + 2T,) 4 - 2T, +2T,)

<-TJ- 2T, +2T, +T. +i+2]j

k 2 2 4
PYE-TZ+2T - 2T, +T2 +i

P =P+ (T, - )T +T5 - 2)

subgame

27




Pgk

Pok

Nash

Py =R (Ty-T)(Tg +T5 - 2)

k _ pk 2 2
P =P +T2-T;

k _ pk —
P =P‘=0

@+ )17 - (+20)T,

(T, T, - )P +T3 - (T, +2- (T (T3 - 4T, +i+2))T, +T

2-15

PC=-T2+2T, - 2T, +T2 +i
P =i

(]

Pl =P+ (T, - T)TZ+T2- 2)

P =-T +2T - 2T, + T +P

k —_ pk 2 2
P =P -T2+T;

k — pk 2 2
P =P +T2-T;

k — pk 2 2
P =P +T2-T;

@+ )17 - (+20)T,

(T, T, - P +T3 - (T, +2- (T (T5 - 4T, +i+2))T, +T
o, 2

2-15

Pi=-T7- 2T +2T +T? +i+2]j
P =-2T +2T +i+2]j

Pok = ng + (Tg - To)(Tg2 +T02 - 2)

P‘=Pf =¥

(T, - Ty* D)PY - T2+(T, - D)2+ (@+T2)T - T2+bTZ - aT,
2T,- 2T, b

2-11

k _ pk 2 2
P =P +T2- T,

P‘=a

-T/+T) +a

3
I

2-15

Pok = ng + (Tg h To)(Tg2 +T02 - 2)

P =-2T +2T +a- 2b
PX=TZ2- 4T +4T,- T +a- 2b

b=-2T, +2T,
Fz)k — a+Tg2 _ T02

k —_ pk 2 2
P =P +T2-T;

P=T2-T2+a

2-15

P<=T2-T2+a

Pok = ng + (Tg - To)(Tg2 +T02 - 2)

P<=2T - 2T, +a
P=TZ-T?+a

ng = Pok - (Tg - To)(Tg +To - 2)
k _ pk 2 2
or By =R -T, +T,;

P =(T,+T,-2)(T,- T,)+a- b

k _ pk 2 2
P =P +T2-T;

Pf=-2T,+2T,+a- b
PX=TZ2- 2T, +2T,- T2+a-b

P =P -T +T;

2-15

Pok = ng + (Tg - To)(ng +T02 - 2)

Pi=a-b
P =T2- 2T, +2T,- T2 +a- b

PX =Pk (T, - T,)(T, +T,- 2)

28




T - (T,- b- 2T] - (T2 +4T, +2a- 2b+i+2j)T +T’+(2- b)T? +(2a- 2b+i+2j)T, +4aj - bi- 2bj
3T, - 3, +b- j

ST (T - j+HATS + (T - 8T, +a- 2b+2i +4))T, - T +(4+)T2 +(-a+2b- 2i- 4j)T, +a - bi - 2bj
3T, - 3T, +b- j

- Tgf+(T0 - 2)T92+(|'02+4T0- 2a+i+2j)T, - T2- 2T+ (@-i- 2j)T, +4
- Tg +To+j

subgame perfect

Tg,To Pgk,Pok

Pgk,Pok
- :T;- (T, - b- 2TZ - (T7 +4T, +2a- 2b+i +2))T, +T; +(2- b)T? +(2a- 2b+i+2j)T, +aj - bi - 2bj
’ 3T, - 3T, +b- j

o TS+ (T, - j+DT + (T, - 8T, +a- 2b+2i +4))T,- T, + (4+ )T, +(-a+2b- 2i - 4))T, +4aj - bi- 2
° 3T, - 3T, +b- |

_ng+2Tg- 2T - T2 +a-i- 2]

k

b T TTTo@ET, - A, +b- )
o= (T2- 4T, +4T,- T2 +a- i- 2b)
° 2(3Tg-3To+b- )
o = - (2T, - 2T, +b)(TS + 2T, - 2T, - T2 +a- i- 2j)*
’ A@3T, - 3T, +b- j)*
I (2T, - 2T,- [)(T2- 4T, +4T,- T2 +a- i- )
° A3, - 3T, +b- j)?
Tg,To

0£T, <T,

T.=0

29



=G T 2- 17
PT84 T2, (an,+b ) ( )
T, =T,
- b(a- i- 2j)?
= 2-18
pg 4(b_ J)Z ( )
2-18 2-17 T,=0
T, <T,£1
T, =1
T 0(3+T2- 4T +a-i- 2b)?
pﬁé%ﬁ-?gi( — — ) ( 2-19)
I} (-3+3Tg+b- J)
T, =T,
i(a-i- 2b)?
p, =& 1 20 ( 2-20)
4(b- )
T, =0 2-19 2-20
1 _ _1)2 : _ Y
1adj+2)(3+a _22 )* _ ifa-2b 2|) % g ( 2-20
4 (-3+b- J) b-j)? &
To::l' 0 To :Tg
2-21 T,=0 T,=1

o _ (3+2a+a - 3- bi- 2bj +i+2))

o (3+a+a - - bi- 20 +2i+3))

’ (3-b+j) ° (3-b+j)
gt = 8- ari+2j) « _(3+a-i-2b)
¢ 2(3-b+)) °  2(3-b+))
.2 .2
1,-j .38-ati+2j0 1, .@8+a-i-2bo
= (=+t)g—F—F—""= =—(=t+)g———=
Ps=202 )g 3-b+j 4 P.=36G )g 3-b+j 5

k _ k 2 2
Pg - Po - (Tg - To)(Tg +To - 2)
o b=2T,- 2T, P‘>a+T/- T/

30

k _ pk 2 2
PY =P +T2-T;



PY 3 -T - 2T, + 2T, + T +i+2]
Tg,To 0

Pok >a+TgZ_ TOZ

>a+(Tg +To)(Tg - To)

>a- b(T, +T,)/2>a- b>0

Pk

o b>2T, - 2T, P >(T,+T,- 2(T,- T,)+a-b
Py 3 -T - 2T, + 2T, +T 2 +i+2]

P >(T, +T,- 2(T,- T,)+a-b>0

0 b<2T,- 2T, P 3T - 4T +4T -T’+a-2b
k 2 2 H H
Py 3-Ty - 2T, + 2T +T ) +i+2]
PY3 T]- 4T, +4T,- T} +a- 20>0
Pk

—_ k 2 2
= P - (Tg - To)(Tg +T, - 2) (T, =T, - )P AT R (T, +2- T2 (T2~ 4T, +i+2))T, +T2 - 2+ )T2 - (1 +2))T,
oy - 2T,-

Pi=-T +2T - 2T, +T +i
P =i

— k 2 2
o b=2T,- 2T, P’ >a+T, - T,
- TP+ 2T - 2T T2 +i <Pf<-T7- 2T, +2T, + T2 +i +2]

T 2T - 2T AT +i< P
T 2T - 2T A T2 +i<-T2+2T - 2T + T2 +i
o b>2T - 2T, b<ZT - 2T,

k _ k 2 2 k _ k 2 2
Pg - Po - (Tg - To)(Tg +To - 2) Po - Pg +(Tg - To)(Tg +T0 - 2)
o b=2T,- 2T, P'>a+T -T? PrE-TZ2+2T - 2T, +T2 +i
i>a+T - T,

a+(Tg- To)(Tg+To)_ (Tg- To)(TgZ+T02- 2) <ng£_ng+2Tg - 2T0+T02+i
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a+2(Tg'T0)<ng£'ng+2Tg' 2T, +T +i
a+T; -T2 <P Ea+i
\ ng =- (T, +T, - 2T, - T,) +i

Pf =i

(o]

q,=1 q,=0 p,=T-T;-a+i p,=0
o b>2T,- 2T, P> (T +T,- 2)(T,- T,)+a-b Py £-T7+2T - 2T +T7 +i

i1>(T, +T,- 2)(T,-T,)+a- b
a-b<PCE-T2+2T - 2T +T2 +i

(T, +T, - (T, - T,)+a-b< P“£i

\ ng =- (T, +T, - (T, - T,) +i
P* =i

o

q,=1 q,=0 p, =T -T -a+i p,=0

0 b<2T, - 2T Py 3T - AT +4T -T +a-2b PFE-TZ+2T, - 2T +T7 +i

a- 2b-i <-ng + 4T - 4T, +T?2
a- 2b- 2T - T,) <P £-T2+2T - 2T, +T 72 +i
TS - 4T, +4T,- T2 +a- 20E P £i

\ P =- (T, +T, - 2)(T, - T,) +i
P =i

q,=1 q,=0 p,=T-T;-a+i p,=0
ng = Pok B ng +T02 I:)ok = ng +T92 B T02

= k 2 2 . .
© b_ZTO- Z-I-g ID0k<a+-r92--l-02 Pg 3 -Tg - 2T§1+2T0 +To +|+2J
a+T2-T/>0 a>T2+2T - 2T - T?

2(ng+2Tg - 21, - T02)+i +2j £ pok <a+ng- T02
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TS +2T,- 2T,- T2 +i+2j£PS <a
\ PX=2(TZ+2T, - 2T, - T7) +i +2j

PC=T7+2T - 2T, - T2 +i +2j
q,=0 q,=1 p,=0 p,=2(T,+T,-T,-T))+]

o b>2T,- 2T, P <(T,+T,- 2(T,-T,)+a-b
Py3 -T2- 2T, + 2T, + T2 +i + 2]
a-b-2j>T2+4T - 4T +T7
M2 +2T, - ZT + 212 +i+ 2] ERS <T?- 2T, + 2T, - T2 +a- b
TZ+2T, - 2T +T2+i+2]£PS<-2T +2T +a- b
\ P =2(TZ+2T, - 2T, - TZ) +i + 2]

PK=T2+2T,- 2T, - T2 +i + 2]
q,=0 q,=1 p,=0 p,=2T +T,-T,-T)+]

o b<2T,-2T, PET -TZ+a Py3-T7- 2T +2T +T +i+2]
as -Tg- 2T, + 2T, +T2+i+2] T?-T?+a®0

2 +2T, - 2T +2T2+i+2] EP <T?-TZ +a

Ti+2T, - 2T, + T2 +i+2j £ P <a

\ P =2(T2+2T, - 2T, - T2) +i +2]
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PC=TZ2+2T - 2T, - T2 +i +2j
qg:O g, =1 pg:o pO:2(ng+Tg-TO-T02)+j

k k 2 2
P, =R -T, +T, (M- T P +T - (T, +2- )T - (T - 4T, +i+2))T, +T7 - (2+ )T, - ( +2))T,

Pk

2T, - 2T, -
Pl =-T2- 2T, +2T, + T/ +i+2] P =-2T +2T, +i+2]
o b=2T,- 2T, Pf<a+T -T;
-T2+ 2T - 2T +TZ2+i <P <-T2- 2T, +2T, +T. +i +2]
P <-Tg - 2T, + 2T, + T2 +i +2]
ST 2Ty 2T AT +i+2<-T ) - 2T, + 2T, + T2 +i + 2]

o b>2T - 2T, b<2T - 2T,

Py =R T +T, R =R+ (T, - T)T, +T, - 2)

0 b=2T,- 2T, Pf<a+T)-T. PFE-T2+2T, - 2T, +T7 +i
i<a+T - T/
P =i
Pl =-T2+T7 +i
d; =0 q,=1 py=0 p,=-]
o b>2T,- 2T, B <(+T,-2(T,-T)+a-b Py £-T7+2T - 2T, +T7 +i

i<(T,+T,- (T, - T)+a- b
P =i
%k:'ng+T02+i

qg:O g, =1 pg:O P, =-]
o b<2,- 2T, PFET}-T)+a By £-T7+27,- 2T, +T7 +i
i£ng-T02+a
PY =i

[0]
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k_ .
P =-TZ+T7 +i

dg=0 d,=1 p,=0 p,=-]
i>ng-T02+a
Pi=a+T?-T} Pf=a

9,=0 0,=1 p,=0 p,=a+T -T -i- ]

o= (o THDR - T+ (T, DT+ @+ AT, - T 4bTE-aT, P =B +T 7 - T
? 2T, - 2T, +b

K —
P, =a

Pok :_TOZ +Tg2 +a

o b<2T,-2T, -TZ+2T - 2T +TZ+i<Pf<-T - 2T +2T, +T  +i+2j

PY 3 -T - 2T, + 2T, + T +i+2]

ST 2T 2T, + T +i+2f £ P <-T7- 2T, + 2T, + T +i + 2]

e = (M- T +DR- TP+ (T, - BT +@+TT, - T°+bT7 - aT,
’ 2T,- 2T, +b

P =PX+ (T, - T,)(T2+T2- 2)

P =-2T, +2T,+a- 2b
P =T2- 4T, +4T,- T2 +a- 2b

o b<2T -2T, - -|-92+2Tg - 2T +TZ2+i< ng < -ng - 2T, + 2T, +T2 +i +2j

PYE-TZ+2T, - 2T +T2+i

ST+ 2T, - 2T, + T2 +i <PFE-T2 + 2T, - 2T, +T2 +i
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k k _ pk 2 2
P P =P +T2-T;

Pi=a
PK=T?-T? +a
o b=2T,- 2T, Pf=a+T - TS
PY3 -T)- 2T, + 2T, + T2 +i +2]
;=0 q,=1 P, =0 p,=a+T - T, -i- ]

k
Pg pr={a-To- DR T - (T, +2- )T - (Tg - 4T, +i+2))T,+T5 - 2+ )Ty - ( +2))T,
° 2T, - 2T,-

o T93+(T0- 2)T92+(T02 +4T, - 2a+i+2j)T, -T2-2T2+(a-i- 2))T, +4q

? " T +T+]
P =a+T - T/
o b=2T,- 2T, P‘=a+T;-T;
-T2+ 2T - 2T +T2 +i <P <-T2 - 2T, +2T, + T2 +i +2]

T +2T, - 2T,- T +a-i- 2] TS +T2 - ati
dq = - g, = -
2T, - T,- ) 2T, -T,- )
- (2Tg - 2T, - j)('I'g2 - T02+a- i)2
pg:O po = -\ 2
AT, -T,- )
ng F)ok = ng + (Tg - To)(ng +T02 - 2)

PY=2T -2T,+a P =T -T +a

© b:2T°- ZTQ F:c.)k:a-'--l_gz--l-oz ng£-T92+2Tg' 2T0+T02+i

d,=1 q,=0 p,=0 p,=0
k _ pk k _ pk 2 2 k _ pk 2 2
P =P - (T,-T,)(T,+T,- 2or P'=P -T2+T? P‘=P‘+T2-T;

P‘=-2T, +2T,+a-b

PX=T2- 2T, +2T,- T2 +a-b

o b>2T, - 2T, P =(T,+T,- 2(T,- T,)+a-b
P8 -T - 2T, + 2T, +T) +i +2]
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qg =0 qozl pg:O p, =a- i - j+-|-g2_-|-02
PY =R - (T,- T, )T, +T,- 2)or P, =P -T +T}

g

Pk - (Tg - Tu' J)ng +T93_ (Tg +2- j)Toz' (ng' 4Tg +i +2j)To+Tg3' (2+ j)ng' (I +2J)Tg
° 2T,- 2T,

PY =P - (T,- T,)(T,+T,- 2)or P, =P\ -T +T/
Pok = ng + (rg ) To)(ng +T02 -2

P‘=a-b

P=Pf-(T,- )T, +T,- 2
Pl =T2- 2T, +2T,- T/ +a- b (T~ T)(T, )

)

o b>2T, - 2T, P =(T, +T,- 2(T,- T,)+a- b

PCE-TZ+2T - 2T, + T2 +i

qg:1 qo:O pg:0 p0:0

T,=0 T,=1

Pk = (3+2a+aj- - bi- 20 +i+2j) Pk = (3+a+a j- 2b- bi- 2bj+2i+3j)
i (3-b+j) ° 3-b+])
gt = 8- ati+2j) « _(3+a-i-2b)

° 2(3-b+j) ° 2B-Db+])

. . .2 . . .2
R T A L Th S e
qg<=0 Qok=0
(rtg=0 11 0=0)
(0) 1)
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